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I. d�eTkÍ«kÍ<ó�q (40 eÖsÁTØ\T)

1. ABCV  ýË DE  \T esÁTd�>±              \ MT<� _+<�T\T eT]jáTT ,            030B =  040A =

nsTTq (i) x (ii) y (iii) z $\Te\qT ¿£qT>=qTeTT. (10 eÖsÁTØ\T)

2. ÿ¿£ ç¿£eT �V�Quó�T� jîTT¿£Ø uó�TÈ+ bõ&�eÚ 3.5 �d+.MT. <�� #áT³T¼¿=\Ôá 17.5 �d+.MT. nsTTq

�V�Quó�T�¿ì >·\ uó�TC²\ d�+K« m��? (10eÖsÁTØ\T)

yîÖ&�ýÙ �||�sY

1 - 14 15 & 16 17 & 18 19 & 20 21 & 22 22

ACBA , BCDE
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3.
1 12 3 ?
3 5
´ = (1 eÖsÁTØ)

4. ( 41) 102 ?- ´ = (1 eÖsÁTØ)

5.
318 ?
4

¸ = (1 eÖsÁTØ)

6. (1 eÖsÁTØ)

7. 0.6 0.8 ?´ = (1 eÖsÁTØ)

8. BsÁé #áÔáTsÁçd�+ýË bõ&�eÚ 8 �d+.MT., yî&�\TÎ 6 �d+.MT. nsTTq <�� yîÕXø\«+. (1 eÖsÁTØ)

9. d�¹sFjáT _+<�TeÚ\T nq>± Hû$T? (1 eÖsÁTØ)

10. ÿ¿£ ç>±eT+ýË 7 >·+ öö bÍ³T |�&�q esÁübÍÔá+ 0.896 �d+.MT. nsTTq d�s�d�] >·+³Å£� |�&�q

esÁübÍÔá+ m+Ôá? (1 eÖsÁTØ)

11. ÿ¿£ ÔásÁ>·ÜýË $<�«sÁT�\ d�+K« 50. u²*¿£\T d�+K« u²\TsÁ ¿£+fñ 10 mÅ£�Øe nsTTq u²\TsÁ

d�+K«. (1 eÖsÁTØ)

12. 2.3 4.35 ?´ = (1 eÖsÁTØ)

13. ¿ì+~ U²°\qT |�P]+#á+&�. (10I1/2 R5)

m) çÜuó�TÈ+ýË ¿ÃD²\ yîTTÔáï+ ............................

_) d�+¿£\q ÔáÔáÎeÖ+Xø+ ............................

d¾) nd�q� ¿ÃD²\ ¿£q|�&û ÿ¿£ d�+<�sÁÒÛ+ ............................

&�) >·TD¿±sÁ ÔáÔáàeÖ+Xø+ ............................

�) d�V�²È d�+K«\ d�$TÜ¿ì e]ï+#á� <ó�sÁ�+ ............................

?5
8
7

=x
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m|�t) 0ª10 R ............................

�) 50 �|Õd�\T R  ` ............................

�V²#Y) 80 �d+.MT. ............................

×) 101.2 I 1 R ............................

CÉ)
34
5  @ Âs+&�T |�PsÁ� d�+K«\ eT<ó�« �+#á+&�.

14. ¿ì+~ y�{ì� d�]jî®Tq d�eÖ<ó�q+ çu²Â¿³T¼ýË s�jáT+&�. (10I1/2 R5)

m) 0.05 I 7 R ............. ( )

m) 35 _) 0.35 d¾) 0.35 &�) 0.05

_)
2
7
´  ...............  R 1 ( )

m) 
7
2 _) 

2
7 d¾) 

7
7 &�) 

2
2

d¾) d�sÁÞø ¹sK ¿ÃD+ ( )

m) 0
0

_) 90
0

d¾) 270
0

&�) 180
0

&�) 100  Å£� d�+|�PsÁ¿£ ¿ÃD+ ( )

m) 70
0

_) 60
0

d¾) 50
0

&�) 40
0

�) çÜuó�TÈ+ýË >·\ ¿ÃD²\ yîTTÔáï+ ( )

m) 0
0

_) 60
0

d¾) 90
0

&�) 180
0

m|�t) Âs+&�T ¿ÃD²\ ÿ¿£ çÜuó�TÈ+ýË d�eÖqyîT®q � çÜuó�TÈ+ ( )

m) n|�Î¿ÃD çÜuó�TÈ+ _) $w�eT u²V�Q çÜuó�TÈ+

d¾) d�eTu²V�Q çÜuó�TÈ+ &�) d�eT~Çu²V�Q çÜuó�TÈ+

�) uó�TC²\T �<ó�sÁ+>± çÜuó�TC²\T m�� sÁ¿±\T ( )

m) 1 _) 2 d¾) 3 &�) 4

�V²#Y) 5 9x + =  nsTTq ?x = ( )

m) 2 _) 4 d¾) 6 &�) 8
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×)
3
4  ¿ì d�eT_óq+ : .................. ( )

m) 
12
10 _) 

3
5 d¾) 

7
4 &�) 12

9

CÉ. x  qT+&� 6 rd¾yûjáT>± e#áTÌ $\Te 12 d�MT¿£sÁD sÁÖ|�+ ( )

m) 6 12x+ = _) 6 12x- = d¾) 12 6x- = &�) 12 6x = -

II. ¿±sÁD²\T #î|�Î&�+ ` �sÁÖ|�D\T #ûjáT&�+ (20 eÖsÁTØ\T)

15. #áÔáTsÁTÒÛÈ ¿ÃD²\T 1 : 2 : 3:6 �w�ÎÜïýË �+&�eÚ m+<�T¿£� (1I10R10 eÖsÁTØ\T)

16. m) 40
0
 eT]jáTT 140

0
 nq�$ d�+|�PsÁ¿£ ¿ÃD²ý²? |�³+ ^º d�]#áÖ&�+&�.

_) 130
0
, 50

0
 nqT Âs+&�T ¿ÃD²\ýË ¹sFjáT <�ÇjáTeTT @sÁÎsÁ#áTHÃ d�] #áÖ&�+&�.

(10 eÖsÁTØ\T)

III. e«¿£ï|�sÁ#á&�+ (10 eÖsÁTØ\T)

17. |�PsÁ¿£ ¿ÃD²\ m\¢|�ÚÎ&�Ö n\Î¿ÃD²\T ç|�e#áH��� d�e]Æ+#á+&�. (5 eÖsÁTØ\T)
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18. ¿ÃD²\ |�sÁ+>± çÜuó�TC²\T m�� sÁ¿±\T y�{ì� $esÁ+#á+&�. (5 eÖsÁTØ\T)

IV. d�+�+<ó�\T (20 eÖsÁTØ\T)

19.
3
4  eT]jáTT 

9
12  nHû$ Âs+&�T d�eT_óH��\T V�äs�\qT �{ì¼ bþ*Ì Ôî\Î+&�. (10 eÖsÁTØ\T)

20. ÿ¿£ >·�ýË @s�Î³T #ûjáT�&�q m*yûT³sY �$TcÍ�¿ì 6 MT. yû>·+ÔÃ ¿ì+<�Å£� ~>·TÔáT+~. uó�ÖeT³¼+

¿£H�� 10 MT. mÔáTï qT+&� �jáT\T<û]q m*yûT³sÁT ` 350 MT. esÁÅ£� ç|�jáÖDì+#áT³Å£� m+Ôá

d�eTjáT+ |�&�TÔáT+~. (10 eÖsÁTØ\T)
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V. çbÍÜ�<ó�« |�sÁ#á&�+ (10 eÖsÁTØ\T)

21. 1/2ÔÃ d�eÖqyîT®q H�\T>·T _óH��\qT s�jáT+&�. y�{ì� d�+K« ¹sK�|Õq #áÖ|�+&�.

(5 eÖsÁTØ\T)

22. (1) 5 G (`7) (2) ` 2 I 3 d�+K«\qT d�+U²« ¹sK�|Õ kÍ~ó+#á+&�. (5 eÖsÁTØ\T)




